
{ ID:0, 
Class: Road boundary, 
Vertices: [[52.5 0.3], [50.7 3. ],[48. 5.7],[45.6 7.2],[40.2 8.7],[21.6 8.1],[19.5 7.2],[18.9 6. ],[17.4 5.4],[ 0.3 3. ]]}

{ ID:1, 
Class: Pedestrian crossing, 
Vertices: [[40.8 8.7],[44.1 7.8],[44.4 16.8],[41.1 16.5],[40.8 8.7]]}

{ ID:2, 
Class: Centerline, 
Vertices: [[54.9 16.5],[55.2 14.1],[55.8 12.3],[56.7 10.8],[57.9 9.9]]}

{ ID:3, 
Class: Divider, 
Vertices: [[ 0.9 24.3],[24.3 27.6],[25.5 25.8],[26.4 24.9],[28.2 24. ],[30. 24. ],[34.5 24.3],[44.4 26.1]]}


